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EH#RIE 11,512,690 + 385,058 11,897, 748
BEEAGE 11,512, 690
E#RE 385, 058
T Ottt R AT 11,512,690 x 53.85% ( 35% = (1 — 35% ) ) 6,199, 583
BRI 11,897,748 + 6,199, 583 18,097, 331
—REEEE 18,097,331 x 53.85% ( 35% + (1 — 35%) ) — 2,743 9,742, 669
E Lk 18,097,331 + 9,742, 669 27,840, 000
HEREELE 27,840,000 x 10.00% 2,784,000
EHERH 27,840,000 + 2, 784,000 30, 624, 000




BENRE EEZEBHKERREEFRES
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BRI 11,897,748
MeEEk SR E 11,897,748
EARERE 11,512, 690
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1 E&EtEtE 1.00 128, 900. 00 128, 900
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=
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=
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=
6 HrkigaE R R IR DBE 1.00 195, 700. 00 195, 700
=
Bk pE s RE ARG 9,025, 790
T BRPKERICHNT 2BERE 1.00 2,492, 000. 00 2,492, 000
=
8 HEKMERW R TAEDRE 1.00 6, 533, 790. 00 6,533, 790
=
E 499, 900
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9 k&t (BATHE .00 108, 600. 00 108, 600
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10 EREHRE (hRAHRE) .00 217, 200. 00 217, 200
=
11 EREHG#E (RBRERE) .00 174, 100. 00 174,100
=
BE 137, 300
12 BE .00 137, 300. 00 137, 300
=
R 397, 600
13 EBTREEEN .00 397, 600. 00 397, 600
=
E#EEE 385, 058
E#EEE 385, 058
EHARE 108, 754
14 EBAME .00 108, 754. 00 108, 754
=
EBHRRRE 2176, 304
15 £BHER .00 276, 304. 00 2176, 304
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A 1.50 57, 400. 00 86, 100
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A 1.50 57, 400. 00 86, 100
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A 1.50 57, 400. 00 86, 100
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A 20. 00 51, 200. 00 1,024, 000
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A 20. 00 40, 600. 00 812, 000
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A 8.58 65, 500. 00 561, 990
EEREM
A 16.08 57, 400. 00 922,992
A (A)
A 26. 26 51, 200. 00 1,344,512
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A 42.34 40, 600. 00 1,719, 004
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A 1.00 51, 200. 00 51, 200
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% 7 I - BIRTE BAf H = B & % = 5 =&
EEREM
A 1.50 57, 400. 00 86, 100
A (A)
A 1.00 51, 200. 00 51, 200
& it E%82H : 1.00=% 137, 300. 00 137, 300
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% 7 I - BIRTE BAf H = B & % = 5 &
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A 1.50 57, 400. 00 86, 100
A (A)
A 2.50 51, 200. 00 128, 000
A (B)
A 2.50 40, 600. 00 101, 500
HEm (C)
A 2.50 32, 800. 00 82, 000
& it E%82H : 1.00=% 397, 600. 00 397, 600
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